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Tffitrdqfrqn - n (201s-2016)

SUMMATIVE ASSESSMENT - II

MATHEMATICS / TTfura

Class -lX/ ?FqTr- lX

FOJXCQJ

3{Ia[fr?Tq SIcF : 90

Maximum Marks :90

frefRavr{q ; 3 qu}
Time allowed :3 hours

Tlrrrrq l;tflft :

(i) q'*fr evl eiFrsrd d r

(ii) {svfi q* q 3r vlq t, H qisgrd3T, d, q, Ef,qTq q qia.rqr?'r strs-sr C +clq
t tsrq vd-f, 1 ers' qr t., srs-o c o cfi t ffi ec-f, +' 2 3rfi t, qrs-s d s sfi t
fu'{d q-s-{ fi s eim t, uts-q d to cw t ffi e-+fi * a eim' t nrTr srs-rr d q.F qra

w erqlft-d 3-3 sffi+ 2 srr de{ra oH fl r yvc t-r
(iii) w e-r{ vr q EF}i qlqqq i{s-eq =rS t r

(iv) @zr or v4r.r effo t r

' General Instructions :

(i) All questions are compulsory.
(ii) The question paper consists of 31 questions divided into five sections A,B, C,D and

E' Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iii) There is no overall choice.
(i") Use of calculator is not permitted.

190-9-* / sEcTtoN-A

y{;T sqT r t q fr s-Cs' q-r r e-s' t r

Question numbers 1 to 4 carrv one mark each.

,,/ * Ei 3ilFfr 4ag:co:4 cm deir tAoB:1oootrqR o {d sr arq t der zcoD qi op
Fq-Eqifwd q-ftr t, d zcop el qq gs *lfu< r

gI)
In the given figure, AB : CD :4 cm and IAOB = 100"' If O is the centre of the circle and Op
bisects ICOD, find the measure of lCOp.
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gD

qR q*. €lg-d'il-a *l emiR-q-fiqr r dsdT.sr-g fi-qT R t, n] s€-{T qr{kFT wo elfuq r

If the inner radius of a spherical shell is r and its outer radius is R, then find its volume.

qR v€qrsfl s, T, B, 12, 6, i0 o+{ 11 d x qi +sr wq, d qTq 9 *r, qt qrr il-d qifuqr
When a number x is added to the following set of numbers 5,7 , 8, 12, 6, 10 and 11, the mean
is 9. Calculate the value of x.

cR qrt-sr-ilw rs - 19,20 - 24,25 - 29 t, d sem E i-si-d{r€ s1 scR erf €tqr ffi elfqq r

Find the uPper limit of the first class - interval if class - intervats a.re
75 - 19,20 -24,25 - 29.

GIug-E / SECTION-B

e-$r rrqr s t ro q' e-+s- *- z e-s. t r

Question numbers 5 to 10 carry two marks each.

eTFFd d, p,e,ne*"t sA +flqri sr-dgf,q-r*q otr qR zsoe:150ot, drsr v*q-qil( 2
qifsl 

I

Iq

In the figure, O is centre of the
If ZSOQ=150", find the values of r and v.

P

circle passing through p, e, R and S.

lMox:135'Sl rqt'r s'{a Eq For nsr qfm'R e1 saqor t, 67.5" o1 rqcr e1&q r

using zMoX= 135o, construct an angle of 62.5" with the help of compass and ruler.
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4 q*E-Efs*-qiqr:4:4:r* wgq6{tr gsq-{fq* e'fi+Mqlqrcni-aqifr\ | 2

The angles of a quadrilateral are in the ratio "I :4:4: 1. Find the measures of all the angles of
the quadrilateral. f 

1];u';'- .4* ., u:,,, ,,
v' 8 qR q*- fr er eWt f* *"*. ssnn cm2 t, d q-€cnr qrcr an *tfwu r

If the total surface area of the sphere is 5544 cm2, fincl the diameter of the sphere.'i s n . r,i, .

../' e ffi eqn * ffiffi Er-rt 100 $r+1 i t erq 3ffi el d-.ql gv r+n t ,

nq er-s 30-40 40-50 50-60 60-70 70-80 80-90

iqufeiqi ql€st 22 28 JZ 40 20 8
q.l-{@ql q+- l-{uHt q{rrqt r qq rr( --:- - ^.trch 5u qt s+t*l 70
_ _--aC_.
dr(| $ilqq I

+-_-::--.a-fH q?+i Qll ftl ylqchdl

The marks obtained out of owing table:marKs obtarnect ou of 100 by the students of a class are given in the foll
Marks 30-40 40-50 50-60 60-70 70-80 80-90
Number of students 22 28 32 40 20 B

if a student is selected at random, find the probability that he/she is a student who scored 50
or more but less than 70.

10 qfr v-+rT *) +oo sR fr-qT rrqT ffi'*c €rrq qRqq A, B elR c t r fff serrcr] el R'qTT{Bit ql 2

. |r+t-€fu-ql.rqlr frqitd|{ Tfr€qrq-rT(R-St (en"rqR-owr<ifqql r

(a) A-176, B-54, C-170
(b) A-200, B_ 100, c_75
(c) A-180, B-770, C-50
(d) A-175,8-125,C_200
An experiment is performecl 400 times and there are three possible events A, B and C.
Possible occurrence of the three evenb are recorded. Out of the foilowing which records are
possible (give reason to support your answer).
(a) A-176, B-54, C-770
(b) A-200, B-100, c-75
(c) A-180, B-170, C-50
(d) A-175, B-125, C_ 200

grg-R / SECTION-C

src q{qT 11 t 1s q e-d"*. +- s 3i-s't r

Question numbers 11 to 18 carry three marks each.

,, 11 qR Freftrfun s,ffi fiT sTsq 40.4 t, fr p ffi qrl ird elfeq r

q{ (r) 10 20 JU 40 50 60 70

q-wRar f) 3 8 72 5 P 7

Find value of p if the mean of following data is 40.4 :u me no wrng data rs
Variable (x) 10 20 30 40 50 60

Frequency (/) 8 12 5 p 7 5
ql qfrerT qvL2 sE ffifq) + ymb. (1oo i q qa r+r{ t :
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66, 64,71, 64, 66,69,66,93, 66, 69,7-1.,
8'l_,77,73, 69, 66,66,64,58, 64, 69, 69
{c $fs-Cr el et-{-Et-{dTe-ic + sc q trEffid qifrq 

r

The scores (out of 100) obtained by 33 students in a mathematics test are as folior's
6q, 4S,g4, rS, 49,76) gg, *g, 66, Fg, fu ,
66, ffi ,2"1,64, 96, 69, ft6, & 66,9 ?L,
w 7T.,73, 69, ffi,66,64., W;64, 69, 6y.
Represent this data in the form of a frequency distribution.

ABCD qs qqiai q-Ew t erh Tqr AD q{ ftt$ i€ a
ar(AQBC):10 cm2t, n) ar (AeAB) +ar (AeDC)Srd eTeq r

\
1

'73

,,.'L4

UC
ABCD is a parallelogram
ar(AQBC):10 cm2, findar (AeAB)

any point If

Tqten pe, eR, RS 3ih rs *-rea-ft! tr pn qo 3

and a
+ar (AQDC).

side AD.

F.e1p1 10 cm si-t 8 .m sl-d A Td i fqgC qr efr*E 6ra t nqT srrqfrs cfr-ql 61 q-q1E rz cm t re-++;qi *- *s ql 
RT 3.p6 +ifrq r

Two circles of radii 10 cm and 8 cm intersect at two points and the length of the commonchord is 12 cm. Find the distance between their centres.

Ff,{ dqT qr*-R sl e.'il{frr t sz l' q1 qi}or q{i5q 
I

-lo 
2

Construct angle of 52: , using compass and ruler.
2

,./ 16 PQRS q-*. qESq t, frTd A, B, c fir o *-q{T ,

h.s!i t r qflf-{q ffi :

(') AB llpR Srae: lpR *r
1

(ii) AB:DC tl
PQRS is a quadrilateral in which A, B, C and
respectively . pR is a diagonal. Show that
(i) AB ll pR anct AB = 1oo.

I

Page 4 of 8
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18

(ii) AB=DC.

t7'.-' qdt,urqo.seR=5cmdfr\r{qwqsihntEtsrtr-sdrqqr -'*1fr-e-{r: eXet{nvnqeft\r :qq i dd €qTd{ t?
Draw a line segment QR:5 cm. Construct pependiculers at point e and R to it. Name them as eX andRY respectively. Are they both parallel ?

qs q{Tq *1 fuqr{ a : 2 : 2 *. 3T3cTd i' t ail{ srTq ql !R-d y*Jq *r.o-f, 3
200 m'zt'l s{Tq si qlE0" R-ao e} { 10 e'fr mzql Et € qqq" ta qrflqT r[qT I q-{Tr{ qi ET6tr e.no e]
te qrcqrl el q$ q-q iro qtfuq 

r

The dimensions of a cuboid are in the ratio 3 : 2 : 2 and the lateral surface area ofthe cuboid is200 rnz' The outer surface of the cuboid is painted with enamel at the rate of { 10 per m2. Findthe total cost of painting the outer surface of the cuboid.

grs_E / sEcTtoN_D

T$r qqr 19 t 28 C !-+f, *- a el-*-t r

Question numbers 19 to 2g carry four marks each.

L> 25 qq-sir ql qrq rs C'r ye{q 12 }Euir qT qTLq 14 sil-{ erft-q rz iqqt qr qrq 1z e-t rs silsnr ild 4
+ifqq r

The mean of 25 observations is 1g.
twelve observation s is 17. Find the

The mean of first twelve of them
thirteenth observation

is 14 and that of last

20 err-ffd { peRST qm r-egv i r sp + srTilpe E;i E-.dri c-{ x q{ fr_fifr i"r se + €qrd{

rx G1=f ii t qlfs
RY dEi .ti t qi fu-Pe +i q-.an q y tr{ f,qf,fr i t <vigq fu ar(peRST) : ar(ASX! i-r

^PAY
ln the figure, PQRST is a pentagon. TX is drawn parallel
RY drawn p^arallel to Se meets"pq produced at y. Showc

to SP which meets pe produced at X.
that ar(PQRST) : ar(ASXy).

,/'2r

P0
Rrd qifqq fm q-a Ei I Rql-dr st*s *'rw-fugeir qi ffi eTdi t*' Ta + +-q t E)"*r qroi t r

ilT::#::f,ij'[J,:'"ing 
rhe mid - poinrs of two parariel chords of a circre passes through

Pa
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22 awxy q1 rqcT qifrq, qR wx + xy + yw = r.0 cm eilr en'* qtur 30. eit zs. t r

Construct awxy if wx + xy + yw = r-0 cm and base angres are 30" and 75".

A

*c--Y( Irigl(1l 4

\
l3 sil5-fr i, pens q*. Rqla{ E-gfs tr qe, zpeR

t r ntfr+-r, ga+R.rrd{Uf-*"-gtETe6rf 
'ri

PB + pC : vrkl-{ qg€q peRS sl qfrq|q t I

qi RqEqTe-d srrdr i-nql ps ipet cqrffitrqrTiqqfu,
fuqn

P Aq .

In the figure, PeRS is a pararlelogram. eA bisects zpeR and meets ps at point A.through R paraller to eA il-:"g pa"p-J"l"d at B and ps produced at C. show that :PB + PC: perimeter of parallelogru* pens
A line

24 q) em-R e- cl-{T + >€i
2 m X2 m xz m t'nql {qTr
EeTTsT 3ilFfd+>siq.r€i

K*' gHT-{ rt{ tsqd-eT tr qE,
acr*-q;Rtffifi-qrzmds{T
sr g-grq Rqrr

qff+R t fu'€-qi r$-m TqTifu r mz{ tr Erq fu gsl-{ar i

^,; ,1- i .1.25

. z't-

'i"

(a) triF*]s-r enq-aq vin eifrs I

{b) gsrl-<Ti ERT fu-s Tc si Riiqi,T-qr?
Two types of water tankers are available in shop. One is m cubical form of2mx2 m X 2 m and the other is in cyrindricarform of raoius i-, and height 1 m.The shopkeeper advised to take cylindrical tank for donation.(a) Calculate the volurnes of both .on*,n"rr.(b) Which value is depicted OV ,fropt."p"r l

q}

(u) s-{+- ydq *-{cnn mr eqq-6
(b) qR +fr fxq31 s' +rr 14 cm t d er*6.N q1 hqr vo erfrq rVolumes of two sphere are in the ratjo 64:27.(a) Find the ratio of their surface area.(b) If sum of the radii is 14 crn, find the radius of each sphere.

qsq( u'fi-si +s**R fud s1 3Tff,ft-fiffirocmtr --m-er si qled r.*tr Frd41frq:(u) gq-$f E-dri i ygm gi E-m-S q-r slrq..fl.q I
/1^\ --^3(tr) { 10 lln cm2 slR t gv+-ercft p.qj 1r-1} q1 oq_o r

The inner dimensions of a closed wooden cubical box is 10 cm. The thickness of the wood is 1

26

Page 6 of 8

Downloaded from: http://jsuniltutorial.weebly.com/ Page No: 06

JS
UNIL

 T
UTO

RIA
L



I

cm. Find the:
(u) volume of wood used to make it.
(b) cost of painting its external surface at the rate of t 10 per cm2.

qq'140 c* qi t-f,{ qi fz-qr ss c- t r qq; d-d * n-qTq e1 qqn-o E-{i t frq qso qwl qrTli

TsA tr 75 tl cfr m2 q1 Er s n-<Tq Eit qEkrf, ori st qq f,K qtfrq 
r

A roller 140 cm long has a radius of 35 cm. To level the playground it takes 980 complete
revolutions. Determine the cost of levelling the playground at the rate of 75 paisa per square
metre.

M' qi 72s qR sdrdT rqr etr sTK qMi qi +i fisrd fu-{ rTcr :

___5:
9C q?l H{gll q|{sffiT

qti qe =rd 789

qfi Ire 297

qi c-c z+J

27

28

TSs qRqn q1

Two coins
below:

gllqchdl dl(l ftllqql q1q H ftq \ft Hc

are tossed 729 times and

ltfu*.-n ql gra q1fqq

outcomes are recorded

-.; --3ql-1 qrl

the

ZJ

30

Number of tail frequenc.'
no tail
one tail
two tail

789
297
243

Find the probabilitv of each event. AIso find the probabilitv that at least one tail will come.

Eru-g-q-/sEcfloN-E

15m vra/Open Text)
( t5'r+r gf{Fea o-r d t+ sl-{5' fuvq e15<' qrd.qsrqm {s qy-{l;{ *qrq vo'c t)

(* Please ensure that open text of the given theme is supplied with this question paper.)

f{q-q : s-qf sqd 3Th frcr€fr qrr fq-€
Theme : Energy Consumption and Electricity Bill

qTfdf, * qr S- ffi fud 'y' t f-q qq" tfufi qqt"+-{ur fmfisq qqf+. i$q-d el eir.ro 'x' {s-r$

(tfrz) tr eEq 1s0 q-+ri ql stqd t 2.20 sfr qo( nw gq* EK efr {sd q'l lhtqf, < 4.20 tl
qqt-{Tul ql q-aq Fc fr ldfuq eik a, b f,eTT c qT qT{ flofu'q r

Write a linear equation fortotal electricity bill 'y'of Kartik's house for'x'units of consumed electricity.
FirstL50unitscost<2.20perunitandabovethiscost{4.20perunit. Writetheequationinstandard
from and write value of a, b and c.

riqq sTqi qr *. ffie C, qq'ffi qor .{r t, d ffi C ft'r-d tr t;d d q+ qqfl-{ e1 vmnr
ffi ql sqo 30 Fml-i t nqr sq* ctrqR q.lqrfu--q' €tki r g*-r{ (+oo {mT-i t 6q S{ 200 qfl-i *
e{}rn) tr qR yB 1z q{ <i gi n.rfuf,r q Rq ffi * g.q -il9 t eqvn qrq s'r gF fq-d { 12000 t
(rrtqr$ + lrqh Fl qq qFqidd aG g\), a] q-{ wtdrur s-{TEq I

Raghav is running a factory in the basement of his house located in Delhi. The machine in the
factory consumes 30 units of electricity in a day and his family consumes x units (less than 400
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,,/tt

units and more than 200 units) in a month. Frame an equation if the total bill for the month is{ 12000 as per Delhi tariff stab'gi.ren in tatusage) 
..rrrr slab grven in table on pg.T(take into account rate for non domestic

1 kW e'dl q6 ffi H1 Fdr +1 \'qi kc fr x q? e,., 2 kW +. q* rfrw +1 \d tro d y * q66 *f*-dqi tq-qd s-qt qq dq1 z cFq efdRr 20 {s.r$ tdqd s-qf l-gfi +fi t, n} qq fu{fr En qnt|€_nqqtfllT * sq d frF;frn qifqq eti sssl erTdg dfr* | 
:

qr scfr-fi qrhfiq ei end-e qg ft=E t Etsr qror tz
I4/hat does the Electric energy cost to run an Electric iron 1 kw for x hours and 2 kw of Geyserfor y hours a day ? If 20 un"il 

"r 
,ti"i 

"r".tric 
energy is used per d,ay,represent this situationas a linear equation and draw its graph.

Does the graph of above equation passes through origin ?

-o0o0o0o-
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